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B.E./B.Tech. DEGREE EXAMINATIONS NOVEMBERIDECEMBER 2009.
FIFTH SEMESTER
CIVIL ENGINEERING.
CE 1303 — RAILWAYS DOCKS AND HARBOURS AND AIRPORTS

(REGULATIONS 2007)

Maximum : 100 marks

 Answer ALL questions.

PART A — (10 x 2 = 20 marks)

What is coning of wheels? What are the advantaées of co?iné of wheelé? ,
Mention the sue of remote sensing in route élighment.

Wﬁm Cole’s method to determine the number of crossings.

State the principles of Interlocking.

Explain the term cross wind component and wind coverage.

Draw the neat sketch of clear zone.

What is meant by Gate positioh?

List the varioﬁs types of runway marking.

Distinghish between heap tide range and spring tide range.

What is the significance of Navigational Aids?
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PART B — (5 x 16 = 80 marks)

Briefly explain the different surveys for track alignment. (12)

What are the objectives of providing transition curves in Railways?

(4)
Or ’

Derive an expression for the relatiohship between ‘Super elevation’,
gauge, and curve in a Railway track. (8)

A 6° curve diverges from a 3° main curve in the opposite direction
in a B.G. Yard. If the speed on the branch line is restricted to
35 kmph, what should be the speed permitted on the main line? (8)

Explain with a neat sketch the component parts and working of a
left-hand turn out. (8)

What are the main objectives of signaling? With neat sketches,
explain the function of various signals based on their location.  (8)

Or

What is the need for periodic maintenance of Railway track?
Describe the items of maintenance. (9)

Write briefly about modern construction materials used in Railway
tracks. : : )

Enumerate the factofs to be considered for the selection of site for a
commercial Airport. (16)

(Y

(i)

Or

Explain the role of wind rose diagréms in the orientation of runway.

¢

The length of a runway under standard conditions is 1900 m. The
airport is located at an elevation of 410 m above mean sea level.
The airport reference temperature is 30°C. If the effective gradient
is 0.22 percent, determine the length of runway. 9)

.
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What are the passenger facilities to be provided in terminal

buildings? 9)

Describe with neat sketches about Aprons. V)
Or }

Describe the importance of runway lighting. Explain threshold

lighting with the help of sketches. : (8)

Explain in brief the need of air traffic control. (8)

What are the different forces acting on coastal structures? Explain

them. : (10)

Differentiate a transit shed and a warehouse. (6)
Or

List the common types of break watefs in use and bring out the

advantages of each of them. (9)

Discuss briefly about the container transportation. &)





